6 @ ﬂl A Addition upp till 20 (ldgg till 6)

o Datum: Poiing:
6+6= 10+6 = 746 = Lie
3+6= 7+6= 416= 1046
4+46= 19+6 = 1546 Cie_
15+6= 17+6= 146 e
1+6= 8+6 = 1746 = e
14+6= 1246 = 46— 0seo
8+6 = 3+6= 2046 = e
17+6 = 7+6= 11+6= 56
16+6 = 10+6 = 046 e
1746 = 1+6= 8 46— S
16+6 = 10+6 = 1046 = e
2+6= 3+6= 1146 .
10+6 = 146=
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LHOA

Addition upp till 20 (lagg till 6)

namn:

6+6=12

3+6=9

4+6=10

15+6=21

1+6=7

14+6 =20

8+6=14

17+6 =23

16 +6 =22

17+6 =23

l16+6=22

2+6=28

10+6=16

10+6=16

7+6=13

19+6 =25

17+6 =23

8+6=14

12+6=18

3+6=9

7+6=13

10+6=16

1+6=7

10+6=16

3+6=9

1+6=7

7+6=13

4+6=10

15+6=21

1+6=7

17+6=23

1+6=7

20+6 =26

11+6=17

9+6=15

8+6=14

19+6 =25

11+6=17
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Datum:

1+6=7

19+6 =25

8+6=14

7+6=13

15+6=21

10+6=16

16 +6 =22

2+6=28

18+6 =24

14+6 =20

6+6=12

3+6=9

Poéng:
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